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x|
Z/m/AeE (34 (35) 41 44 15 100
ALR/7| =2 (82) (87) 28 66 6 100
INR R (105) (103) 51 41 9 100
A H[ A /2O /A A (38) (39) 42 55 3 100
S/E/at e ) ) 52 48 0 100
AL S/ B X 27 7 42 47 11 100
== (106) (99) 42 49 8 100
SH (1) (27) 43 46 11 100
DX|/E|E| /7| EF (82) (80) 44 45 11 100
DE/28H (3) 3) 34 30 36 100
ZHH AS AN
a2l AS (60) (59) 35 59 6 100
=2 AZ  (196) (199) 42 50 7 100
st AT (219 (219) 43 48 9 100
DE/28H (25) (23) 44 28 28 100
ol g%
Rl (144) (147) 15 82 4 100
SE (142 (147) 30 62 8 100
2 (172) (166) 76 15 9 100
2E/REEH, (42) (40) 42 26 32 100
Xxgg
HE0 =L (166) (173) 8 87 5 100
=095l (203) (191) 89 6 5 100
= MM o|ch ) ) 0 100 0 100
WA @) ) 25 62 13 100
A =-20|2Y (5) (6) 15 59 26 100
A B A (0) (0) 0 0 0 0
A (1 (1 0 100 0 100
oA (48) (45) 7 91 2 100
1 Q| CHE HE (6) ) 63 23 14 100
S /EE/ESH (62) (68) 21 48 31 100
M QI
MHEXAZ (218 (208) 100 0 0 100
HEANE (240 (247) 0 100 0 100
DE/2SE (42) (44) 0 0 100 100
Ed 2829 ot
SEEE (194) (183) 91 6 3 100
28" 271) (281) 11 82 7 100
DE/2SE (35) (36) 29 15 56 100
22t &M EEOI3k
M3 EES (420 (412) 42 52 6 100
A3 EEF (53) (59) 43 47 10 100
A= HEH (5) (6) 43 15 42 100
X2 HEE (5) (5) 35 0 65 100
0y/=22 (17) (17) 29 35 35 100
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[H 8] 24 X9 &0t
[28] MYUHAM= O|H =30/ MHOAM i X9 TEEO0| 7t FQsHH Mo & 240 3ot2 F9iojztn
MZESEA L7}
el %
Atdll== () =5 43,
aa BAEEY A2 HdA  ABZHO
A MIGSY smea om s TE2 oxa = mas es
A zaee (A5 gl 2 NS sy zzom MIE ax s Lsem mgm
A=) | AR") [T 5T =g M2l R oM TS XY FH | 7ts =X
23}
e B A m (500) (500) 1 3 10 8 52 6 9 100
o2
Ml (253) (247) 14 2 12 7 50 6 8 100
. oM (247) (253) 9 4 8 9 53 7 10 100
- O
18-29M (50) (68) 4 5 16 11 55 5 4 100
30-39A (53) (65) 11 2 8 8 58 9 3 100
40-49M 71) 71) 6 1 10 9 58 9 7 100
50-59A (108) (98) 10 3 11 7 56 5 6 100
60-69A (125) (115) 15 3 8 10 47 5 11 100
o 70| Of A (93) (83) 18 4 8 4 40 5 20 100
<]
S3ZE1AY (245) (255) 12 2 8 9 52 6 11 100
. S72 2AS  (255) (245) 11 4 12 8 52 7 7 100
o
dy/ae| /2 (34) (35) 8 6 10 5 54 16 0 100
ALR/7| =2 (82) (87) 14 2 12 8 58 4 2 100
XY (105) (103) 9 3 13 8 56 4 7 100
AfH[ /2RO /Y 2 A (38) (39) 12 3 9 10 53 6 7 100
S/2/FA4Y ) ) 0 0 0 0 100 0 0 100
WA S/ 2 A 7) (27) 7 0 3 15 53 15 7 100
ZFE (106) (99) 10 2 8 10 46 10 14 100
st 1) (27) 13 12 19 11 35 0 11 100
S x| /|l /7| EX (82) (80) 16 3 7 5 50 3 15 100
T A ﬁﬁ%a (3) 3) 0 0 0 0 30 0 70 100
(=] = S ==
242 AF (60) (59) 13 6 10 11 47 6 7 100
=2 AZ  (196) (199) 12 2 11 6 55 8 8 100
skl AS  (219) (219) 11 3 9 11 52 6 8 100
STHE 2E/2SH (25) (23) 12 4 5 0 39 4 36 100
oo
El (144) (147) 12 2 7 13 56 7 3 100
2 (142) (147) 11 4 12 7 52 7 6 100
B2 (172) (166) 10 4 12 6 52 6 10 100
T 2E/2SH (42) (40) 12 0 5 7 35 2 39 100
X x|t
=02  (166) (173) 12 3 5 8 61 6 5 100
=095l (203) (197) 12 5 14 7 45 4 13 100
=MAo|E (2) 2) 0 0 0 47 53 0 0 100
WS A 7 7 0 0 0 0 88 12 0 100
M=z20|2{ (5) (6) 26 0 0 0 74 0 0 100
N NI (0) (0) 0 0 0 0 0 0 0 0
IR, (1M (1M 0 0 0 0 100 0 0 100
= (48) (45) 17 0 7 16 47 6 8 100
Q| ChE dY (6) 7 0 0 14 0 46 26 14 100
o oﬁ:iﬁ/E%/%%a (62) (68) 6 0 15 11 46 12 10 100
_C.)_I_ _—=
HEXZE  (218) (208) 14 5 15 7 43 6 11 100
FEANE (240 (247) 1 2 7 10 59 7 4 100
— im%%/%%}a (42) (44) 4 0 2 6 56 5 27 100
o O o O 'Ié:
887 (194 (183) 13 5 15 7 44 6 10 100
SE™-EF (271 (281) 10 2 8 10 58 7 5 100
- E%{»TD};%E (35) (36) 12 4 0 5 45 3 31 100
T TH2|L
M3 EEZ (420 (412) 12 3 10 8 52 7 9 100
23 EEZ (53) (59) 6 6 12 13 49 7 7 100
A3 HEEH (5) (6) 15 0 0 0 69 0 15 100
M= HEH (5) (5) 0 17 0 0 46 19 19 100
P 7WEHD7I:S/E% (17) (17) 10 0 11 6 50 0 22 100
= o =
M= (257) (265) 12 2 6 10 57 7 6 100
M= (190) (179) 12 5 16 7 43 6 11 100
7|Et 24| 7 (8) 0 0 27 0 60 0 13 100
ge/nE/BSEy (46) (48) 8 2 8 6 53 4 19 100
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[H 9 &8 3d82Y% 4ot
[29] MEENME 4L HEHO| LS EotD JUCHD st L7t ZX5ta QUCHD MZSHa L7t
e %
A|'E:"<|\' (Do:') ®|:||.|_<'3_ @DHO
RSl | OAXMEY xRS K H A7 =2
oIL HO|CH  (D+©) HO|Ct ol ®+@) @ F3H
ARla(F) | AR t f
e B A m (500) (500) 1 26 37 20 36 56 7 100
o2
Al (253) (247) 11 25 37 19 36 54 9 100
. oM (247) (253) 10 27 37 20 37 58 6 100
- O
18-29M| (50) (68) 0 16 16 39 33 71 13 100
30-39A (53) (65) 2 22 24 16 53 69 7 100
40-49KM 71) 71) 7 15 23 25 48 73 4 100
50-59AM|  (108) (98) 10 25 35 9 51 61 4 100
60-69M|  (125) (115) 18 31 49 18 29 47 4 100
o 70M O A (93) (83) 19 41 60 16 10 26 14 100
<]
232 1389 (245) (255) 11 27 38 18 34 51 11 100
. S72 2AS  (255) (245) 10 25 35 22 39 61 4 100
o =
dd/ae|/HE2 (34) (35) 19 13 32 13 39 52 15 100
AR/7| =2 (82) (87) 5 22 27 24 45 69 3 100
A (105) (103) 12 34 46 16 36 52 2 100
A H| /2ol /S e Al (38) (39) 9 19 29 20 49 69 2 100
S/8/FA4Y ) ) 52 0 52 0 48 48 0 100
AL | S/ BE 7) (27) 10 30 40 12 41 53 7 100
FE (106) (99) 14 29 43 19 32 50 7 100
st 1) (27) 0 15 15 35 28 63 22 100
DX /|l /7| EX (82) (80) 10 30 40 20 27 48 13 100
o L #I*Eﬁﬁ%a (3) 3) 0 0 0 34 30 64 36 100
(<] = S ==
o2 A5 (60) (59) 13 21 33 24 41 65 2 100
=2 AZ  (196) (199) 12 25 36 20 37 58 6 100
skl AS  (219) (219) 9 29 37 19 37 55 7 100
STHE 2E/2SH (25) (23) 12 28 40 13 16 28 32 100
[=]
el (144) (147) 2 15 18 23 57 81 2 100
2 (142) (147) 3 20 23 27 43 70 7 100
B2 (172) (166) 24 41 65 11 16 27 8 100
A DE/28EH (42) (40) 12 27 39 14 21 35 26 100
oo
=02  (166) (173) 1 6 6 21 68 89 4 100
Zalojsll  (203) (191) 25 58 83 9 3 12 5 100
=MAOo|E (2) 2) 0 0 0 47 53 100 0 100
WS A @) @) 0 13 13 36 50 87 0 100
A =-20|2y (5) (6) 15 0 15 17 68 85 0 100
A B S (0) (0) 0 0 0 0 0 0 0 0
RS (1M (1M 0 0 0 0 100 100 0 100
2ol A (48) (45) 2 0 2 20 78 98 0 100
1 Q| ChE dY (6) 7 27 36 63 23 0 23 14 100
AS/EE/ESH] (62) (68) 1 10 11 42 21 62 26 100
M Iy
HEXE  (218) (208) 25 55 80 10 5 15 5 100
HEANE (240 (247) 0 4 5 27 66 93 2 100
T ;xﬁ%ﬁ%? (42) (44) 0 12 12 22 19 41 46 100
o O O O %
SEEE (194 (183) 29 71 100 0 0 0 0 100
™™ (271 (281) 0 0 0 35 65 100 0 100
- gg/glﬁ'%t%c (35) (36) 0 0 0 0 0 0 100 100
S TH
M3 EEZ (420 (412) 11 27 39 16 39 56 6 100
23 EEZ (53) (59) 8 18 26 37 25 61 12 100
A= HEH (5) (6) 0 43 43 0 57 57 0 100
M= HEH (5) (5) 0 0 0 54 27 81 19 100
0|H/= & (17) (17) 5 23 28 37 5 42 30 100
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(& 10] SYX[X| =
[210&F10-1] MMEHM= Chg & ol YS XXSHY LM B2 =22 EE2ASHCHL I8, o= FEo
AZ0|2te O 20| 7= HQI7tQ? 24 =22 &2 Eg|&LCL
CHel %
At () e x| X|
7t=7+ | H=9 5 S HE L MER MR z== sl BE/
L EAjgis T8 ez FUUE won Ja o e PR aun OE g5 ogp A
ArﬁlT(o)mﬂ#(%) S els
. m A m (500) (500) 35 38 0 1 1 0 0 9 1 12 2 100
Al (253) (247) 29 39 0 2 0 0 0 11 1 15 1 100
. oMl (247 (253) 40 37 0 1 2 0 0 7 2 9 2 1100
- O
18-29M||  (50) (68) 41 16 0 2 0 0 0 2 0 36 2 1100
30-39M|  (53) (65) 43 20 0 2 5 0 0 6 6 17 2 1100
40-49M|  (71) 71) 43 24 0 3 1 0 0 14 0 14 0 100
50-59A]| (108) (98) 41 38 0 2 1 0 1 13 1 3 1 1100
60-69A (125) (115) 27 52 2 0 0 0 0 11 1 6 2 1100
- 70M O|Al  (93) (83) 18 64 0 1 1 0 0 5 1 6 3 1100
<]
23213 (245) (255) 33 40 0 1 2 0 0 8 1 11 3 1100
e S3Z 239 (255) (245) 36 37 0 2 0 0 0 10 2 13 0 100
p
A B/ /HEER  (34) (35) 21 32 3 0 0 0 0 17 3 24 0 100
APR/7|1=2 (82) (87) 41 30 0 2 4 0 0 10 0 12 0 100
XA (105) (103) 27 45 1 3 0 0 1 9 1 13 0 100
MH|A/EO/ B (38) (39) 44 36 0 0 4 0 0 10 4 2 0 100
S/ @ ) 0 52 0 0 0 0 0 48 0 0 0 100
MAZ| S/ BE] (27) (27) 38 38 0 6 0 0 0 10 0 4 4 100
== (106) (99) 38 42 0 1 1 0 0 6 1 9 3 1100
Skl 21) (27) 43 17 0 0 0 0 0 3 0 32 5 100
SA/E[R/7|Ef  (82) (80) 31 45 0 0 0 0 0 9 3 9 2 1100
S/2SEHl  3) 3) 30 34 0 0 0 0 0 0 0 0 36 100
ZHH AZF AN
o2 AF (60 (59) 36 35 2 3 0 0 1 15 2 7 0 100
=% AS| (196) (199) 35 38 1 1 0 0 0 9 2 13 1 100
stel AE| (219 (219) 34 38 0 2 3 0 0 8 1 13 2 100
— DE/28H (25 (23) 33 47 0 0 0 0 0 0 4 8 8 100
0 [=} O-s
ZlE (144) (147) 54 15 0 1 1 0 1 17 1 12 0 100
=2 (142) (147) 44 24 0 1 2 0 0 13 1 14 1 100
2 (172) (166) 11 71 1 3 1 0 0 1 3 8 2 1100
T DE/ESH 42 (40) 24 42 2 0 0 0 0 0 0 23 10 100
K| x|t
C=02IFE  (166) (173) 100 0 0 0 0 0 0 0 0 0 0 100
209|3ll  (203) (191 0 100 0 0 0 0 0 0 0 0 0 100
=MEoEH (2 ) 0 0 100 0 0 0 0 0 0 0 0 100
WM @) 7 0 0 0 100 0 0 0 0 0 0 0 100
MZ20/2 (5 (6) 0 0 0 0 100 0 0 0 0 0 0 100
MZRIESS (0 (0) 0 0 0 0 0 0 0 0 0 0 0 0
FEEH (1) 1M 0 0 0 0 0 0 100 0 0 0 0 100
ZZHAMEN  (48) (45) 0 0 0 0 0 0 0 100 0 0 0 100
1 Q| CHE FE  (6) 7 0 0 0 0 0 0 0 0 100 0 0 100
- o%:iﬁ&%@%a (62) (68) 0 0 0 0 0 0 0 0 0 88 | 12 100
S
HEX|HE (218) (208) 6 82 0 1 0 0 0 1 2 6 1 1100
HEANE  (240) (247) 61 4 1 2 1 0 0 17 1 13 0 100
e ig%%%ﬁ*%F (42) (44) 21 21 0 2 4 0 0 2 2 34 14 100
Ed 2829 H7
SEHEIN (194) (183) 6 86 0 1 1 0 0 0 2 3 2 1100
S™EEIN (271) (281) 55 8 1 2 2 0 0 16 1 15 0 100
=N g%/i;%a (35) (36) 21 27 0 0 0 0 0 0 3 35 . 14 100
22t &M EEOl%
M3 EHZ| (420) 412) 37 39 0 2 1 0 0 10 1 8 1 100
AT EBE (53) (59) 26 37 0 0 0 0 0 5 3 27 2 1100
2= HEH (5 (6) 15 31 0 0 27 0 0 0 27 0 0 100
HI HEH (5 (5) 46 17 0 0 0 0 0 0 0 37 0 100
O&/22 (17) (17) 0 29 0 0 0 0 0 10 0 56 5 100
X SMYoIE AxH EWAZION B2EE E2 04%
X e AT SMAE0M H2EE E2 02%
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